9218PBL

Parts Breakdown

V/rled,dbds

8/18/2010

Page 1 of 2



V/771i

Products with multiple versions are listed in subsiding order with the newest version on top not indented

T

roooxlmm.hmm—\)a
+

/ |

b A A &

Part ID
156994-8
211033-2
226112-3
211033-2
212052-1
961055-9
254001-2
226401-6
312671-4
911186-4
911166-0
211206-7
322050-8
285809-3
224517-1
263002-9
211131-2
961052-5
241055-8
516106-9
213002-9
211033-2
263002-9
411241-7
911681-4
594111-6
856940-8
156105-5
159596-9
191945-4
194982-7
643600-9
651225-5
664064-4
682502-4
687002-9
911133-5
911138-5
4112394
414994-7
819063-3
743012-7
794176-0
781008-0
782412-6

Parts Breakdown

Part Name

GEAR HOUSING COVER, 9218PB

B. BEARING 608LB, 5091D

GEAR CPL., 9218PBL

B. BEARING 608LB, 5091D

N. BEARING 1010, HK1810

RETAINING RING S-15, 5057KB

WOODRUFF KEY 4, HM1810

HELICAL GEAR 46, 9218PBL

GEAR HOUSING, 9218PB

P.H. SCREW M4X60, 9218PBL

P.H. SCREW M4X40, 9218PBL

B. BEARING 6202LLB, NHP1310

SPINDLE, 9218PB

BEARING RETAINER 23-36, 9218PB

LOCK NUT, 9227CY, 5,7

RUBBER PIN 4, HR2400

BALL BEARING 6001DDW,9218PBL

RETAINING RING S-12, 9218PBL

FAN 68, 9218PBL

ARMATURE ASS'Y 115V, 9218PBL

DUST SEAL 8, 6013BR

B. BEARING 608LB, 5091D

RUBBER PIN 4, HR2400

BAFFLE PLATE, 9218SB

P.H. SCREW M5X60, 9218PBL

FIELD ASS'Y 115V, 9218PBL

NAME PLATE, 9218PBL

MOTOR HOUSING, 9218PB(T1)

MOTOR HOUSING, 9218PBL
CARBON BRUSH SET CB-124 (2/PK), 9045B

CARBON BRUSH SET CB-124, 9045B
BRUSH CAP 6-10, 9005B

SWITCH,JN3200

CORD (2X18X8 SJ), HR2400

CORD GUARD 8-85, HP2010N

STRAIN RELIEF, 9217SPC

P.H. SCREW M4X18, N9501B

P.H. SCREW M4X20, 9218SB

HANDLE COVER, 9218PB(T1)

HANDLE COVER, 9218PBL
MAKITA LABEL, DA3010F

7 RUBBER PAD, 9217SPC

WOOL BONNET 180, 9218PBL

WRENCH 17, 9217SPC

LOCK NUT WRENCH 28, GA7911

Page 2 of 2

Quantity

[ N N . | T = G T NG TR N N N W N e e e N N T Y G [ U it N W U U W N O T T S N, B |\ RS W W s N W U W = N

9218PBL

8/18/2010



